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QUESTION 1

Glycolysis results in a net gain of how many ATP molecules?
A.0

B.1

C.2

D.4

Correct Answer: C

QUESTION 2

The ability of an open system to regulate its internal environment to maintain stable conditionsis .
A. negative feedback

B. biofeedback

C. osmosis

D. homeostasis

Correct Answer: D

QUESTION 3

Thigmotropism is the oriented growth of an organism in response to .
A. light

B. heat

C. physical contact

D. gravity

Correct Answer: C

QUESTION 4
What type of joint is present in the elbow?
A. Hinge joint

B. Saddle joint
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C. Gliding joint

D. Pivot joint

E. Ball and socket joint

Correct Answer: A

QUESTION 5

Alfalfa thrives on land which contains lime, and gives poor results when
this ingredient is deficient. The explanation is simple: there is a
community of interest between the very low microscopic animal life,
known as bacteria, and plant life, generally. In every ounce of soil there

are millions of these living germs which have their allotted work to do,
and they thrive best in soils containing lime. If one digs up a root of
alfalfa (it need not be an old plant, the youngest plant will show the
same peculiarity), and care is taken in exposing the root (perhaps the
best method is the washing away of the surrounding earth by water),
some small nodules attached to the fine, hair-like roots are easily
distinguished with the naked eye. These nodules are the home of a
teeming, microscopic, industrious population, who perform their
allotted work with the silent, persistent energy so often displayed in
nature.

In the context in which it appears, "naked" most nearly means which of the following?
A. nude

B. opaque

C. unaided

D. reflective

Correct Answer: C
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